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Une heure a une durée 

égale à : 

a. 30 minutes 

b. 60 minutes 

c. 80 minutes Réponse : b 

2 heures ont une durée 

égale à : 

a. 60 minutes 

b. 120 minutes 

c. 100 minutes Réponse : b 

3 heures ont une durée 

égale à : 

a. 120 minutes 

b. 180 minutes 

c. 60 minutes Réponse : b 

Entre 14h et 15h, il 

s’écoule : 

a. 20 minutes 

b. 30 minutes 

c. 60 minutes Réponse : c 

Entre 15h10 et 16h10, il 

s’écoule : 

a. 10 minutes 

b. 30 minutes 

c. 1 heure Réponse : c 

Entre 9h30 et 10h, il 

s’écoule : 

a. 30 minutes 

b. 15 minutes 

c. 5 minutes Réponse : a 

Entre 14h30 et 15h30, il 

s’écoule : 

a. 30 minutes 

b. 60 minutes 

c. 14 heures Réponse : b 

Entre 8h20 et 9h, il 

s’écoule : 

a. 40 minutes 

b. 20 minutes 

c. 1heure 20 minutes Réponse : a 


